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Question
No.

Questions

In an under developed country most abundant resource is

(1) modern technology (2) underutilised capital.
(8) savings (4) none of these

TF oI [t A9 § ga9 95w wened @ |

() orgees fefes (2) o9 IwEf. Tofr

@ = 4 T 3 2 T

Per capita income as a measure of development is inadequate because
(1) itignores distributional aspects

(2) itignores sustainability aspects

(8) it ignores and focuses on means

(4) all of the above :
m%w%mﬁnﬁaﬁamm%mﬁﬁa

(1) 7e el geqelt @ St s &

©@ ¥ Il et B W EA

3) %Wﬁ@mm%maﬁwmﬁ%m%

(4) SR a4

| @ =% = = & e A

In times of inflationary pressure, who will be most aciversély affected
(1) Businessmen 3

(2) Government 3

3) Pensioners ' I

(4) Allwill be equally affected

TR @[ 3 @ ¥, we gﬂ a?s B gl &R

(1) =

(2) &

(3) Tsrrarh




Questions

4. | Fiscal policy deals with

| (1) Rate of interest charged by banks

(2) Income policy of the government

(3) Expenditure policy of the govei‘mnent
(4) Both income and expenditure policy of the government
T A R e

(1) % &/ T T AT H R D Ty

(2) THR H g Ay F qey

(8) @R H =7 Hifq & 9

@ Waﬁmmmaﬁ’f:ﬁﬁﬁ%m

5. | Decrease in autonomous consumption will shift IS curve

(1) up _ 2) m]lhavenoeﬂect
(3) can not say (4) down

@E I § IS ke a%r Ll :

(1) IW (2) #i§ g9 & &
(3) F& T& T @) $=

6. | Periods of increasing prices will lead to
(1) increase in employment
(2) decrease in employmept

S

(8) decrease in exports _

4) a]l of the above are possible :
T @ o H oo & o -z T
(1) IR & ghs i &R | |
(2 W # @R
() P ¥ i % o

(4) I gt H@9g ®

7‘ 'PG-EE-2013 (Economics) Code—C St
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Question :
No. | Questions
7. | Unit of measurement of MPC is

(1) Utils

(2) Rupees

(3) A pure number without any unit
(4) None of the above '
MPC & 19 & 551 @

(1) Utils

(2) zuA

(3) fr el 59 & % g den

(4) I § { B T

Higher levels of income tax for the rich will most likely Iead to

(1) decrease in consumption of food

(2) lower enrolement in schools

(3) decrease in demand for five star hotels
(4) lower expenditure on health

IR B RIT TR 3 TG W) g9E: o e
(1) @@ & 39T & F F )

(@ ﬁmﬁwﬁﬁaﬁaﬂ?

3 wmaﬁ%ﬁﬁwﬁﬁaﬁaﬁw
(4) WRE | TR AF H AR '

Change in aggregate consumptlon per unit of ehange in chsposable income

is called &
(1) increase in demand

(2) decrease in demand e 5
(3) income shift

(4) marginal propensity to consume
ZF A A ¥ WREds & 9 3 qyfeea SuN § oRadd @ FRd o
Q) = afs (2) =i & FHi

(3) T T (@) Sw 9 A R

| PG—EE—ZO 13 (Economics) Code-C
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Questions

Assuming that overtime prices have been falling arrange following in
descending order of magnitude : Gross domestic product (GDP), Net
domestic product (NDP), disposable income (DI) at current prices,
disposable income (DI) at constant prices

(1) GDP, NDP, DI at cdlnstant prices, DI at current prices

(2) GDP, NDP, DI at current prices, DI at constant prices

(3) NDP, GDP, DI at current prices, DI at constant prices

(4) None of the above

uswmﬁgqﬁs@w%amiﬁq%@%, ﬁwﬁﬂaﬁaﬁtﬁm%qﬁr@wﬁ
T FMT : el 9 I (GDP), & MY IO (NDP), I gt ) ey
!ﬂwaamml),ﬁaqurm?ﬂwmmn ., .

(1) GDP, NDP, Rert 3t o DI, &t gt 1 DI

(2) GDP, NDP, a9 gt w7 DI, fery & W DI

(3) NDP, GDP, i gt 1 DI, fey T |/ DI

(4) ST 7 & g 7

11

In short run, a firm can make losses and yet continue to produce
(1) True '

(2)  True on_ly under some market structures

(3) False : ¢4
(4) Cannot say | "

wmﬁ,%wlmwwma@ﬁ_%
1) & . -

(2) %® IR HEel 3 R g™

3) o T

(4 %' 76 gFa

PPGEE 2013 (Boonomios) CodeC
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;Is:'i(m Questions

12, By real income we mean
(1) Income after reducing taxes
2) Saléry plus bribes collected minus ta‘xes
(3) Both of the above
(4) None of the above
IRaleF o /@ ol ®
(1) R 92N 3 97 Y _
@) F geER AT T T Read
(3) W I
(4) S F & T8

1_3.. Which of the following cost curves can never have ‘U’ shape ?
(1) Total fixed cost (2) Total cost curve
(3) Average fixed cost . (4) All of the above
Freifofe 3 & Rhg o % a1 aP U R &1 &9 78 8w ?
(1) T &6 ar (2) F« aFE T
(3) o Rex arm (4) SHE @

14. | In case of perfectly éomp'etitive factor as well as;)ﬁ.t.)duct markets, with

increase in MSP,, wage rate will

(1) increase (2) decrease

(3) remain constant (4) All of the above are possible

oo SRVl ST S - e A @ A 3, MSP, 3 g3 @ e, e @@
1) =& (2) = .

3) fer @ @) swde o d

E_—EE—2013 (Economics) Code-C
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Qﬂ;ﬁiﬂﬂ  Questions

15. | In an oligopolistic market, key characteristic it
(1) - product homogenity (2) recognition of interdependence
(3) both of the above (4) none qf the above

| o SR ¥, ger Rdva 2

(1) " SIS FHETA (2) SigHREr B e
3) “TwiE A 4) I &} 9 @

16. | If average cost is rising, then marginal cost '

(1) isrising at a faster rate  (2) is rising at slower rate

(3) may be falling (4) all of the above are possible
IR olea aFE g W@ 2, 7 did '
(1) TTRTATT AR @ MITATEAR
@ AFTAEE@A (4 T ah o 2

17. | When we use term ‘profit’, it means
(1) Normal profit 2 Supernormal profit
(3) Both of the above e (4) None of the above

| 7= AW = @ I R R, sE ot @
(1) = @ . 2 Mg M )
@) R A (4) v § B G
;‘ 18. | Higher the slope of a traditionally drawn &e_jélan_d curve, absoulute value
| of price elasticity of demand will be B

(1) lower . (2) higher. .
(8) nothingcanbesaid @ (4) “none of the above
TR &9 § §IC T A/ 9 F o R afyd &, 9 B g9 /g # 9wE 51
1) FFR @ =W
(3) F® Fe TE S Fepaw @) ST § § B T

PG-EE-2013 (Economics) Code-C
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Questlon
No. -

Questions

19.

Marginal Revenue (MR) and marginal Revenue product (MRP)

(1) mean the same

(2) mean the same under some conditions

(3) mean different things

(4) may mean same or different things dépending on market structures
dmiq s (MR) T d@iwid o 39 (MRP)

(1) % IREE & T @

2) % FB W $ A AT T 8

(3) o aEgeH | oThmE B

(4) I AR B UG AR IR EEA W AR FO &

20.

Which of the following is not treated as ‘Production’ in modern ecomomics?
(1) Teaching in a Government School ’
(2) Banking

(3) Defence Services

(4) None of the above

g e § e A @ R g %mﬁaﬁﬁmam?
(1) K R § s

@ 1

(3) T Ha :

(4) SWF 7 § B T ¢

21.

o

Arrange wheat, cereals and food in such an order that the absolute value
of their price elasticity of demand decreases.

(1) wheat, cereals, food . (2} food, cereals, wheat

3) cefeals wheat, food (4) cereals, food, wheat

¥, o T @ A 5 3 ey HiT R SR AT @ g A BT A 9
(1) %, o=, @ (2) @, 3, T |

(3) oW, ¥F, @ (@) o, ', T

PG-EE-2013 (Economics) Code-C
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Questions

22.

If marginal utility of x was increasing through out rather than diminishing
as is usually assumed, then consumer will consume

23.

(1) only y (2) _ both x and y but more of x
(3) cannot say ! (4) only x if she consumes x at all
AR x B Wi ST g B S R qeE: mw%%mma@@%aﬂvﬁ
1) @y (2) x a9 y I T s x
@) & T T (4) Faw x 3R & x H GG FE 2
Which of the following doe_s not re‘present demand curve of a normal good.
(1) P =30-D, (2) D,=87-0.5P, -
86.5 ' . '
@) P = D (4) None of the above
Frefifee & & I &1 @ A= 98] $ A 9% SR T s
(1).P_=30-D, (2) D ,=87-0.5P,
.86.5 ' e .
@ P.=73 (4) I § | B W

X

24.

] (1) Banker

Under economic resource ‘labour’ which one of thé following is not included
(2) Machine bperator |

(3)  Manual worker

(4) None of the above _

Al SR ‘% ol P & A P @ 8
@® W ' @) =i e

@) Mo hE @ SRm AN T

- 8

e
s

PG-EE-2013 (Economics) Code-C
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Q“qus;-i““ Questions
25. | Which one of the following is not a ‘firm’
f (1) Bank ~ (2) Cobbler shop
| Z"‘ (8) Car manufacturer (4) None of the above
o & & & & 0 o T R |
1) ' - (2) A # gEE _
(3) # fomia (4) SRE A § FE &

26. | If income of a consumer increases, then for a normal good
(1) quantity demanded will increase

(2) demand will increase

(8) both of the above

(4) none of the above

e T S F A T 8, g agg B

(1) = = 3en w2 () =i s

(3) S (4) I § @ FE TE

27. | Which of the following is a cardinal measure ?
(1) Length of a field in meters
(2) Ranks in class test :
(3) Roll numbers of students | ’¥
(4) none of the above

Frfifed & & s-a @ A 8 7 &

(1) ¥ # w7 "

(2) e adien § At

(3) Foenfefdt & srgeis

(4) W= A & P T

——

PG-EE-2013 (Economics) Code-C
(9)
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No.

Questions

28.

If price of one commodity increases by 10% and that of another de_acreases'
by 10%. Prices of other commodities remain constant and money income |

also remains constant, then real income will

(1) remaincontant (2) increase :

3) decréase (4) all of the above are possible

3t %] 1 59 10% et & q9r ga H IO%W%ima@eﬁmwmgﬁrm
Rery el &, 79 arafs o

(D) fer @l (2) &

(3 = (@) I a9 H B

29.

Division of State’s resources between state and Panchayati Raj institutions

is usually decided by
1) Planning Commission (2) Finance Commission
(3) Central government '(4) State government

T B T F1 I T G T el B dre dean qmraa: Feff S

(1) TS SN R (2) fm om@m g

(3) F=T THN BN (4) WWM

30.

. _ i
Largest share of national income in India comes from

(@) Primary sector (Zl Secondary sector
(3) Tertiary sector (4) Export sector
T # U S H geca. e o @ |
(V) mahm d @ WmEwy
(3) P & & <4)ﬁwfas:ma |

PG—EE—2013 (Economics) Code-C
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Q“I%sg"io“ Questions
31. | In mid-sixties, for some years India observed plan holiday. It was because
of '
' (1) drought (2) floods _

’ (3) political instability (4) none of the above
e WE % WA q, GBI F WO ARG X Do w5 Aw b $ R ga
M g . @Qw
(3) TR StRewar (4) ITF § § F15 ToH

32. | Estimates of poverty in India are dirived on the basis of

| (1) Economic Census

2) Populatibn Census

(3) Door to Door survey by the State Government

(4) Sample survey by Centr_al Government

a7 P 3 et B R B seR W g e o @
1) oi¥F SFE :

(2) STFTHEA SFIVE]

(8) T WIHR BRI =HY-5% I

(4) =T GEHR B T qEEHO / J

33. | Arrange following in increasing order : 0 i, 0.02, 0.009, 0.0095
(1) 0.009, 0.0095, 0.02, lO.l ~(2) 0.0095, 0.009, 0.02, 0.1
(3) 0.1,0.02,0.009,0.0095  (4) none of the above
Freififee 1 953 g2 %9 A sxafte B @ 0.1, 0.02, 0.009, 0.0095
(1) 0.009, 0.0095, 0.02, 0.1 (2) 0.0095,0.009,0.02, 0.1
(3 0.1,0.02,0.009,0.0095 (4) S ¥ & B 7

PG-EE-2013 (Economics) Code-C
(11)
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Question
No.

Questions

34.

(1-0.1) 1+ 0.1)=? |
(1) 202 (2) 1-0.1+0.1-(0.1x1)
3) 0.99 (4) none of these

(1-0.1) 1+0.1)=?
(1) 2.02 @) 1-0.1+0.1-(0.1x1)
(3) 0.99 (@) ™ § 5 T

35.

(1.999 +0.001)*=?
(1) 1.999+0.0013 + 3 (1.999)% (0.001) + 3 (1.999) (0.001)?

25
(2) 57 +17-9

(4) All of the above
(1.999 + 0.001)3=?

(1) 1.9993+0.0013+ 3 (1.999)% (0.001) + 3 (1.999) (0.001)*

25
@) > +17-9

(4) I G

36.

Maximum data dispersion is given by

(1) Variance i
(2) Standard deviation :;
(3) Range

(4) None of these

At STy @ R S @
(1) ReReaErT

(2) 9N fEee aa

(3) ™ &

(4) ™ § P37

S

PG-EE-2013 (Economics) Code-C
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No.

Questions

37.

Statement : Some rats are birds. All the birds like mangoes

Conclusion I : All birds are rats

Conclusion II : Some rats like mangoes

From the given statement

(1) Only conclusion I follows (2) Only conclusion I follows
(3) Both conclusions follows (4) N either conclusion follows
o9 38 T& W6 2 T R’ B oy g 2

= 1 = o T3

e 12 38 2 o oee o ¥

R m w27 &

(1) 3w s I srgeoa a2

(2) Faw s 11 : srgafea o @

() W Frepd orgEiE a9 &

@) #% @ Frepd srgaia 78 2

38.

In the.-evening, after office hours a person walks towards sun, then turns
to his left, then to his right and then right again. Finally he turns left and
directly faces his house. His house faces PN

(1) North (2 South

(3) East : 4) WBSE _

A 3, T T F A%, 0 A @ A T 3, TS I A A geaw B, 36D A
am‘gsm%,aﬂtﬁﬂﬂg@a%:ﬁaﬁ&ﬁm%ﬁtaﬁw%mqﬁaw%rm
Gl

(1) S # iR (2) = i ok

@) w 7 e @) wREm # ok

PG-EE-2013 (Economics) Code-C
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39.

Statement : All women are married. Some women are doctors

Conclusion I : Some married women are not doctors

Conclusion II : All women doctors are not married

From the given statement _

(1) Both conclusions follow - (2) Only conclusion I.follows _
(8) Only conclusion II follows (4) Neither conclusion follows -
Fo : @t wiead fartea ¥ | B Aiead et €

Frepd 1 : %o Rrfea afeand e -8 §1

Frepd 11 : weft sfen fefteess Raifed 8 ¥

Ru T o & -

(1) 2t Preps orgaRa & & @) e e 1 srgafta & 8

(3) Faw Frepd I1 orgaRa @ (4) 9 +ft Frewd orafea e g

40.

 <3) %) ‘ @ @ -‘

Relationship between mango, fruits, rice and curd is best represented 4

» Q000 @a(DOO

(3)%) | (4)8

3, A, mwﬁ%ﬁmw@a@mﬁaﬁaﬁm%

» Q000 o(DOO

PG—EE—2013 (Economics) Code-C
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No.
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41.

Human Development Index takes into account

(1) gender inequality (2) regional inequality
(3) generational inequality  (4) none of the above
qA [ e T e & |

(1) T s & (2) & srauEaT
(3) UEFE FEEEEr @ - (4) IWE F @ I T

42,

Which of the following is not an argument in support of balanced growth
theory '

(1) tomake full use of economies of scale and specialisation

(2) different sectors of the economy are inter_linked

(3) to avoid inter-sectoral bottlenecks |

(4) none of the above : .

Fretfoet & & 2-a1 s afe e 3 T & o o o 3

(1) Wﬁmwﬁﬁmwwmﬂm

2) &é—m%w—wmaﬂwﬁ@%

@) SAR-GTHH Ty § =g

43.

) W & § 9 T8

According to Lewis, supply of labour at eXisting wage rate to industrial
sector is

(1) completely inelastic (2~ positive

3) negative‘ ' (4). complgtely elastic
m%mw,ﬁ@ﬁm%ﬁmqwﬁﬂwmﬁwﬁ%

1) i siEsda ©2) o

@) =omEE (4) o s

PG-EE-2013 (Economics) Code-C
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Questio'néi |

Agriculture is the dominant sector of India: eeonomybecauselthas

sharein |

(1) -National income @) Employment

(8) 'Both of the above 4) I;Io_n'_e'of the above

T o T B AN g A ¥ i s gean o ¥
(1) T o & @ I H |

3) v A & @ TP

45. | After independence, per capita availability of pulses in India has

| @) increased (2) decreased '
s (38) remained stationary (4) ndi__ﬁé ﬁthése

g | T # g, A A B o A S
1) @ | @ @E

@) RRW@? (@) T & FE T
46. | Decline in rate of inflation means

| (1) Prices are declining

(2) Prices are ilicrea_sing at slower rate
3) 'Both'of the above | ¢ ;
(4) None of the above _ ! é
TR A R I F -
(1) Bt P ¥ ;
@ T AR RE
3) S Al

@ euﬁirer ¥ q P T

PG—EE——2013 (Economlcs) Code—-C
(16) )
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No. i ~ Questiong
47. | Which of the following is not true of Indian agriculture development

(1) itis Concentrated on few crops
(2) it is focussed on few regions
(@) it is not €xport oriented

() & 3B Foet w e 3 @) I %8 &6 w s 2

(3 atmfaeaﬁgaaﬁ% @) T dgfm afx 3 2

@) SHw F ¥ 3¢ 55

49,

India has been cited as mixed €conomy because it hag
(1) mixof agriculture and industrial sectors “
(@) produces for exports as well as domestic ﬁiarket
3) ﬂoun'shing public sector ag wel% as private sector

(4) nope of the above
wﬁ%a&w%wﬁﬁaﬁaﬁmm%mmw%-
1) ?ﬁﬁmeﬂ?ﬁﬁm%ﬁmﬁw

) h#h%m-mﬁqw%mw
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Questions

Since 1990’s economic policy in Tndia has been characterised by

(1') reduced role of public sector
3 3 (2) increased role of multinationial corporations
(3) both of the above

(4) only (2) above

1990's @ wre & anfdiw Ay Riftegw @

(1) e e B g g a

@ g TEE Fre @ 9@ g e @
(3) ST A & i

(4) Faw SR (2) B

51. | With increasing awareness of harmful consequences of 'ex'wir(;nmental
pollution, cetris paribus, share prices of luxury cars WHEL

(1) decrease (2) increase
(3) can go in either direction (4) none of these

mw%mmﬁaﬁaﬁgm%ma&maﬁwﬁ,

(1) €& 2 &
G FRARMAMTE @ T § g T
52 | Major contribution of Keynes that distinguishes him from his pre-decessors
is his theory of K
(1) interest rate distribution
(2) taxation
(3) price ;
(4) equilibrium at less than fté]lremployment levels
%qm-qgaﬁwshﬁsa%m@qﬁﬁt%ww%,m__jm%
(1) = & e :
(2) N
@ T
@) T JFR @ | I

PG-EE-2013 (Economics) Code-C
| s A (18)
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Question
No.

Questions

53.

In IS-LM framework diagram shows equilibrium levels ‘of '
(1) Income and employment

@2 Employment and rate of interest

(3) Inflation and rate of interest .

(4) rate of interest and income :

IS-LM g/ ¥ fo freey ot amamgen &t #t R 2

() o e AT (2) UFIR T &0 A T
(3) TeRwIRr q91 = H & (4) &9 H T T IA

54.

Nornial or usual aggregate consumption curve will cut. Y’ axis at

(1) origin (2) at positive value

(3) atnegative value (4) any of the above

SR AT W T ST 9 Y 98 B W e
@& 2) T T W

8) FOTEE AT W - @) W A QPR A

55.

Which of the following is a transfer payment

(1) Wages of workers

(2) Interest on bank deposits
(3) Rent ofa building

(4) None of the above
i & @ #-w SRT FEM Y <
Q) P @ Tl |

P

| @ & 5w w =

(3) el waw & fruan
(4 IWF ® q F 7R

2013 (Economics) Code-C
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No. Questions
56. | Disguised unemployment is more likely to occur in

(1) market economy (2) developed countries
(3) : under developed economy (4) none of the above
gt @ A S oAt A o wwET §

(1) IR sAferaern ¥ (2) Refa 3 4

(3) o fofE sd-genet § (4) SWEd § § B @

87.

Capital formation is a process of

(1) generation of saving

(2) construction of buildings

(3) deposit of savings in banks

(4) creation of additional production capacity
ot fomfor o wftea @

(1) == F

(2) wat & i

(3) i & s=@r @ S &N

(4) iR Sares e & R

58.

‘Development is the best contraceptive’ implies
(1) With development more effective contraceptives become available
(2) To central population growth, contraqpptives are not needed

(8) With economic development, rate of growth of population will come
down in due course

(4) None of the above

(1) ﬁﬂa%wmmﬁﬁmwaﬁ%

(2) “HE gis FrEer & e St # aEEE T8 8

() onfles R & @y, §99 3 9y SREen @ gk @ & A e
(@) I X § B TE

PG-EE-2013 (Economics) Code-C
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Question >
No- - Questions
59. | Lewis model of development was based on

(1) surplus labour in traditional sector
(2) urban unemployment

(3) both of the above

(4) none of the above

fore 1 g58 dfea smaia o7
(1) vOUrE &5 § rfoRe g w@
2) =l FFrh w
(3 T I
(4) SWF & § 2 7
60. | InSouth-East Asia, highest ranking in terms of human development index
is generally achieved by
(1) India (2) SriLanka
(3) China (4) None of these
. W-ﬁmﬁwﬁww%qﬁﬁwwﬁmm%
(1) 9T = 2) & &= 3
() =@MH (4 39 9 K 7
61. If two trains starf; moving in perpe‘ric‘iicular directions at speed of

50 and 60 kilometers per hour respectively. After one hour trains will be
at a linear distance of '

(1) 110km . (2) morethan80km

(3) lessthan 80 km 64) none of these
ﬁﬁ%iﬁwaﬁsnaﬂﬁw:mamﬁom.nﬁﬁaa%nﬁf%mawgsm
%l@ﬁ%wﬁﬁwﬁw;mgﬁwﬁl

(1) 110 &t (2) 80 7t & e

(3) 80 & 79 @) T & $F 7
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Questions = 1

If in a game of 3 blue balls, 5 red balls and 2 white balls, probability of

winningis =, what is the probability of loosing

3 i 1 o
(1) i 2) 56 3) 5 (4) None .of these

o 36 T, 5 T T 2% 1 S e &t A ) s 2 8w
ﬂmﬁgﬁrw% ' :

M O ® 5 @ FEAN

63.

B
) %rdﬁé@?ﬂ e %rd@fﬁ’ﬂ
(3) & T A @ AR

If width is doubled and length is reduced by }?’-rd , then the area of rectanged
will

: 1
(1) idcrease by grd

(2) decrease by %rd

(3) doubled
(4) none of these

af e B A R T ¥ e g F %'rcibﬁwﬁﬁnw%,aama
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b“;?’:f"“ Questions
64. | If government spends more than its current revenue income, it will lead

to
(1) increase in employment (2) inflation
(3) both of these (4) none of these
o ST S A A o | s o F L, R Sn
(1) TR F g @ o @ TR B dR
(8) ¥ ® <A (@) FHAR T

65. | Increase in marginal propensity to import will
(1) increase the value of multiplier
(2) have no effect on multiplier
(3) same effect as that of increase in MPC
(4) none df the above
s @ fre i it 7 g B
(1) TS AN H I
@) T W HE TG T AT
(8) MPC i gfs & a¥& €1 99
(4) SR F § IR T {7

i
R

66. | Critical minimum effort thesis and big push theory of development are -

(1) similar to each other * (2)ﬂ contradict each other

(3) unrelated (4) none of these
ﬁiﬁ%wmeﬂmwﬁmﬁra@wm%
1) @ @I EE (2) @ W 3
(3) orEERE (@) T q B T
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70.

Q“ﬁsf‘m Questions

67. | For modernisation of economy, agriculture is a source of
(1) investible surplus (2) labour
(3) both of these (4) none of these
oY o % yfEnET & [, N o 99
(1) fRs 9 e 2 =9
3) T & M @) T 9§ 3 T

68. | Development trajectory of an economy is a function of '
(1) rate of capital formation (2) choice of technique
(3) both of the above (4) none of the above
e Y e F AEE uHe-uy o e d
(1) T Fo A R @ (2) THIH & =TT B
(3) ST A # (4) IWF X | B 7

69. | Which of the following economists is not known for his/her contribution to
development economics
(1) Amartya Sen (2) Nurkse
(8) Marshal - ~ (4) Todaro
Wﬁ@%—waéﬂwﬁmﬁﬁmmﬁh%ﬁﬂﬂﬁmw%
1) o A (2) Tha
(3) s (4) =T
If three countries grow at equal rate, then after 10 years

(1) these will be equally developed
(2) need not be equally developed ¢

(3) will be equally developed only if these countrles were at the same
level of development

(4) none of the above . L
qﬁeﬁq%ﬂmﬂwqﬁa’m%ﬁ‘rloaﬁw i
(1) ¥& 999 &9 | fsiha 2 e

(2) 99F & 9 Ry eN-at sraggesal Te 2

(3) Wﬁqﬁﬁzﬁméﬁn%ﬁqﬁaﬂﬁﬁm%mmwﬁ
(4) I ¥ | Fg T
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estion -
No. Questions
71. | With all the money in her pocket, a woman can buy either 40 apples or

30 oranges. If she decides to buy 14 apples as well as save 15% of total
money, how many oranges can she buy '

@ 1 | @ 15

3) 16 (4) none of these

STl ST # g U §, o AR @ 40 7 oy 30 Wk whe v B9 = 14 3 i
%m@m%ﬁﬁ%ww%aﬂﬁwﬁﬂhﬁﬁ%ﬁwﬁﬁ%ﬁﬁ%@ﬁﬁm

1) 14 2) 15
3 16 (4) ¥ ] 5
72. | Generally which Indian state is ranked highest in terms of human
development index : '
(1) Haryana (2) Gujarat
(3) Maharashtra (4) Kerala
HIERTS: 35 AR o 1 7 R g 3 W F e Ao e qm o
(1) eRarn (2) T
(3 merTs 4) =
73. | Proportion of GDP spent on education in India is
(1) 6% (2) lessthan 1%
(3) more than 6% " (4) none of these
RS 7 Rren o @ R @ GDP & o @
(1) 6% (2 1% d'z8
@) 6% ¥ s 4) ¥ 3¢ &
74. | For a decade after mid nintees, employment in organised sector in India
(1) increased rapidly (2)A remained stable

(3) declined through out (4) declined and recovered
T 3 W B 79 $ R, 9ra § S 8 § I

(1) of & a1 @ Rmww

(3) TR e @ (4) = &R gaw
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Queshon 3
No-: Questions |
~ 75. | Inrecent past, centrel budget has been characterised by

(1) high borrowings (2) surplus :
(3) deficit Sr (4) both (1) and (3)
e & ¥, P Fore T a aeoliga St 8

(1) s=wT Bl 2 s

@ - @ () (3)

76.

If arithmetic mean of a,b,cand dis e é.nd gﬁum of first two terms is f, then
the fourth term is equal to :

D ot @) (de-H/2
3) it =iﬁ: not possible to find it (4) none of these : :
R a,b,c T d F TR A e ¥ qur HoH A G F A £ 3, 79 A 97 IR B

| @D ef _ () (de-H2

@ R mTmEEmEE @) A

717.

2.3+ 7.7((3 + (7x3)) = 4) ?

(1) 16- 3

(2) itisnot possiblé to find it

(3) 485 pycachy
(4) none of these |
2.3+ 7.7((3+(Tx3)+4)=2?
e A

(2) T 9 FT @ T B

(3) 485 |

@) FHAM T
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Question
No.

Questions

78.

Standard deviation of age distribution of boys in a class is 1.75 and that of
girls is 2.0. It means \ : :

(1) Girls have higher average

(2) Girls have more varied age

(8) Average age of girls is 0.25 more than that of boys

(4) None of the above

it e § wg @1 g Raver & A Rreae 1.75 & qen @it @1 2.0 | soe goee &
(1) R i ol s 2

(2) weRedl @ ong & sy R &

() weRhal 1 ol oy e # e 0.25 o &

(4) IRw H | P T

79.

If price of a commodity increases by 20%, then by what proportion should
a consumer reduce her consumption of this commodity to keep her
expenditure on this commodity constant

(1) 20%
(2) about17%
(3) not possible to find out with the given information

(4) none of these i

% o TG F T 20% T I 8, ﬁr@mﬁmﬁs&ﬁwaﬁ@%ﬁmwﬁ%m
AU IUART B e 9 F AT L

(1) 20%

2) T=17%

3) ﬁﬂéw%mmwaﬁ
(4) 6% 9§ B &
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Q“I‘:T?"“ i ' ' ' Questions

80. | If a box has coins of Rs. 1, 2 and 5 only, and total number of coins is 100.
Moreover, there are at least two coins of each denomination in the box.
Therefore. -

(1) Maximum amount of money in box can be Rs. 486 _

1 (2 Minimum amount of money in box can not be less than Rs. 110

‘| (3 Both of the above '

4) None of the above

| R A3, 2a05 5. %mﬁ%w%mﬁaﬁm1w%lﬁmm
e iR B AR ' :
B (1) R F o A st W 486 5.

@ ¥R ¥ o F < W 110 5. F 79 A v

3) I o

(4) o 3 3 aﬁ# mﬁ

81. | If cash reserve ratio is mcreased by RBI, it will lead to

(1) dgscre_ase in money supply

(2) increase in money supply _ o
(3) inflation ot _ e ,
(4) none of these _ | 4 . : S

B qﬁRBImWWWWRﬂTW% ﬁtu'a'%fﬁlm.-"-”:'*
(1) T Rt ¥ AR 6 |

R @ magrgmaax

| @) R A A T

@ 3 B 7 B oA
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Question
No.

Questions

82.

If currently one British Pound exchanges for Rs. 80, appreciation of rupee

will imply

(1) One British Pound will be available for less than Rs. 80.
(2) One British Pound will be available for more than Rs. 80.
(3) Studying in Britain will become costlier for Indians.

(4) None of these.

Hﬁaﬁqﬁﬁ@ﬁfﬁmmaﬂﬁrﬁwsw.ﬁaﬂ%m

(1) T By 7evE 80 5. | #9 F aymey any
(2) % By ueve 80 5. & aftw & symer A
@) A F T B9 F veE wE@ & oo

@) T d 3 &

I Jeaghs 3 Hawe AN

83.

Progressive tax policy implies greater reliance on
(1) Excise tax (2) Indirect taxes
(3) Income tax (4) None of these
i # M T ) geean o @ 3P e B
(1) IOE F (2) Iy I

(3) BT _ @ = q K T

84.

Say’s Law implies

(1) demand creates its own supply
(2) supply creates its own dem and
(3) both of the above

(4) none of these 8

& % fram e e & >
(1) = g9l YRt @ e 2
@) oyt o HT w=
(3) SWF A

@ T 9§ B T

{1
&
I 9%
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Quest:lon

Questions

85.

I..ncrease in usage of credit cards will lead to demand for money j
(1) Increasing (2) No effect |

(3) Decreasing .(4) None of these

He aid & o A ofs g B R AT A A o & e

Q) g 2) s

(3) @) ¥ @ B T

86.

If an agricultural farm has work for only 4 persons and five members of a

family work on this farm, it is a case of

(1) disguised unemployment (2) open unemployment

| (8) full employment (4) over employment

aﬁ@zgﬁ%ﬁ%w%aa4wﬁﬂﬁ%mm%wsamwﬁ?mw¢w
o™ FM A &, I8 T o

(1) it & I H (2) Gt IS H
(3) T RFI H (4) Iy AT &=

87.

If rate of growth of country ‘A’ is 7.4% and for country ‘B’, it is 7.2%, then it
can be concluded that

(1) Country ‘A’ is developing faster

(2) Country ‘A’ is growing faster gy

(3) Both of the above |

(4) None of the above

7 A9 A’ B gRE B & 74%%@%&1‘3%@% 72%%aaqatﬁwm
ST @ ©

1) 3 A’ afws T @ REm W @R

(2) 2 ‘A’ e a5 § gRE #X @B

(3) STH I

(@) IWE H § B T
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lﬁﬁi"n Questions

88. | Coexistence of modern and traditional economic structure is called
(1) mlxed economy (2) growth paradox
3) economlc dualism (4) none of these
s@mmmﬁsﬁsmﬁ%%sﬁmﬁwm%
(1) M@ e ey (2) 3% Rrdemm
3) i Eaar @) T q K 77

89.

In Rostow’s theory of development, different stages relate to
(1) population size :

(2) rate of growth of population

(3) composition of national income

(4) all of the above

o & I 3 R 7, Rt Gﬁ'RTFI Heiftrg &
1) wEEr ® TR |

(2) e @t gfg e |

@) T o H dET A

4) IR T @ '“

90. | Theory of vicious cycle of poverty is
(1) primarily an explanation of why ceintries are poor
| @ pnmarﬂy an explanation of why nfd;'wduals are poor

: L
(3) primarily a strategy of poverty removal
(4) none of the above

Tl 3 gy a1 Ry 2 =
(1) maﬁssq@qsmﬁs%smﬁvﬂa%
3] mwﬁwmﬁsaﬁsmﬁwﬁs%

-
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Q“;JS;?O“ : Questions

.. 91, | Share of labour employed in organised sector in India is about ........ of
‘total labour employed. L '
(1) 80% @) 50% 3) 25% @) 10%
g § gt & Prifw ow @ ol PR SH BT 2l
(1) 80% (2) 50% (3) 25% 4 10%

92. | India follows = _

(1) Fixed exchange rate (2) Complete convertibility
3) Partial convertibility (4) None of these
AR AT F &
(1) fer fafma & @ Tt aREdE #

(3) wﬁﬁqﬁaé:rshwaﬂ (4) =78 | Fg T

93.

Objective of creation of spcial economic zones was to

(1) give boost to exports (2) give boost to imports
(3) to increase employment (4) to increase net foreign exchange
earnings ‘

Riftre afies e & Fmfor &1 S8 o

(1) Prafa @ gemEn & (2) ST H ggEl &

(3) TR T () o= PR R e A g %

94.

Which of the following is not true for Mahatma Gand_hi' National Rural
Employment Gurantee Act ? :
(1) Gurantees 100 days of employment per family
(2) Gurantees 100 days of employmfen'f per persifm ’
(3) Payment is based on ‘piece rate’ system

(4) Use of heavy machinery i8 not allowed i
wmﬁﬂ@umﬁﬂmm@mﬁw%fmﬁﬂﬁﬂ@aﬂﬁﬁﬁ—mwaﬁﬁ
1) oftr GRAR 100 R IS B IS ¥ e

@) iy @ 100 R AR F R 3 B
(3) g “frg T TR X STEIRa @

@) Tt Wi T S wigd T e -

g
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h;:ﬂi Questions
95. | De-industrialisation’ is a term associated with
(1) First three plans (2) Fourth to eighth plan

(3) British India : (4) Mughal India
R gdrfier T Haf ® - '
(1) W d9 Aw=st 3 9y 2 ot & amedt o
(8) fsfesr wra (1) 9 9a

96.

In a square room 6 feet long, how many mats of two feet width and lengthi

1.5 times the width can be placed ?

(1) 6 @2)- 12 3) 8 (4) None of these"

TH 6 BT 99 FER P ﬁqﬁtﬁh@wa‘l@@% 1.5 o @ # R aRa
farg o T ¥ ? :

1) s @12 . @s @) ¥ d 3 T
97. | Square root of 5 is closest to _

1 3 @ 2 (3) 2.3 @ 22

5 1 Ty Freeaw @ ._ ;

1 33 2 23 3) 23% . @ 223

98.

1
If a treasure is divided between A, B and C in such a way that B gets 3
of what A gets and C gets half of what B gets, then

(1) A gets half of treasure (2) B gets —th of treasure
3 C gets = th of treasure (4) Ncm% of the above

qﬁABwC%aﬂaaﬁéwwmﬁﬁmﬁﬁ%ﬁBaﬁAm ﬁlﬂ?ﬂ%a‘m
C % B & e fwr &, 79 2

1) Aﬁ@wﬁmmﬁaﬁr% ) B@f@ﬁﬁ-aﬁ% fiyerar @

3) C& @™ F - ﬁram% @) e d B TG
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No.

Questions

99.

In economics, very long run means

(1) a-period of at least 10 years

(2) time period after 10 years

(3) time period after 20 years

(4) None of the above

sl &, wg & omfy w o ®

1) sAAFM L0 A () 1099 & 9% H FHERE
@) 209 3 a& H wEEE (@) T § | #E

100.

By ‘normal’ goods, we mean

(1) goods used by normal persons

2) _goods which normally all people use

(8) Whose demand decreases with increase in pnces
@ Whose demand increases with increase _m income
1) AT R AN ST H T A 96

@ v S AR A I

@) P T 9w ¥ g 3 e B &

@ Ry i o e & a8
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